Performance Final Exam Review Worksheet

1.  Punnett Square:  Long cat tails are dominant to short cat tails.  What is the genotype and phenotype  of a heterozygous cat and a short tail cat?  B=long tail
b=short tail
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Genotype:  BB—0% 

      Bb—50%


      b

      bb—50% 
Phenotype:

Long Tails—50%

                    b
Short tails—50% 
What are the 5 steps in the lytic cycle of a virus?
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2. Step 1__A.  Attachment_____________________
3. Step 2__B.  Entry__________________________
4. Step 3__C.  Replication_____________________
5. Step 4__D.  Assembly______________________
6. Step 5__E.  Lysing_________________________
7. What is the cycle above called:  __Lytic Cycle________________________________

8. What happens to the host cell: ___It is destroyed_____________________________

9.   Complete the chart below:

	Kingdom
	Cell type
	# of cells
	Feeding
	Examples

	Archaebacteria
	Prokaryote
	Unicellular
	Autotroph
	Halophiles, Methagens

Thermaphiles

	Eubacteria
	Prokaryote
	Unicellular
	Autotroph/Heterotroph
	E. Coli, Salmonella

	Protista
	Eukaryote
	Unicellular/Multicellular
	Autotroph/Heterotroph
	Amoeba, Algae, Slime molds

	Fungi
	Eukaryote
	Unicellular/Multicellular
	Heterotroph
	Mushrooms

	Plantae
	Eukaryote
	Multicellular
	Autotroph
	Trees, Flowers

	Animalia
	Eukaryote
	Multicellular
	Heterotroph
	Frogs, Dogs, Worms


10.  Complete the Chart using the Codon Chart below. 
	DNA
	mRNA
	Amino Acids
	tRNA

	GTA
	CAU
	HISTIDINE
	GUA

	TCA
	AGU
	SERINE
	UCA

	GGG
	CCC
	PROLINE
	GGG

	ACC
	UGG
	TRYPTOPHAN
	ACC

	ATA
	UAU
	TRYOSINE
	AUA

	TAC
	AUG
	METHIONINE
	UAC

	GAG
	CUC
	LEUCINE
	GAG

	GCA
	CGU
	ARGININE
	GCA

	AAT
	UUA
	LEUCINE
	AAU
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Pedigree Charts
Use the charts to the right to answer the following questions:
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__C____11.  Which pedigree chart above is X-linked?

_A, B_____12.  Which pedigree chart above is Autosomal?

_A,C_____13.  Which pedigree chart above is dominant?

___B___14.  Which pedigree chart above is recessive?

__A____15.  Which pedigree chart above is autosomal dominant?

___B____16.   Which pedigree chart above is autosomal recessive?

__C____ 17.  Which pedigree chart above is X-linked dominant?

_NONE_18.  Which pedigree chart above is X-linked recessive?

__4_____19.  How many children did the parents have in pedigree chart A?
___4____20.  How many single females are in chart C?

___5____21.  How many marriages are in Chart B counting the parents?

___2____22.  How many only children were born in chart A?
Dichotomous Key:  identify the organisms: Write the LETTER of the creature by numbers 43-50.  
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23. Creature 1
      

24.  Creature 2


25.  Creature 3

26.  Creature 4

Slinkova finus


Slinkova bottae


Aliensus veronica
Aliensus marsican
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27.  Creature 5

  28.  Creature 6


29.  Creature 7


30.  Creature 8

Slinkova slimus

Slinkova aquatus

Walinea detrona

Aliensus timonus
	1
	Creature is bipedal (2 feet)………………………………………………… …………………………………………..…go to 2

Creature is not bipedal………………………………………………………………………………………………………go to 5

	
	

	2
	Creature has a separate head and torso………………………………………………………………………………go to 3

Creature has a unified head and torso…………………………………………………………………………………go to 4

	
	

	3
	Creature has pincher-like hands…………………………………………………………………………..Aliensus veronica (A)

Creature lacks pinchers………………………………………………………………………………………….Aliensus timonus(B)

	
	

	4
	Creature has hair……………………………………………………………………………………………………Walinca detrona (C)

Creature does not have hair………………………………………………………………………………….Walinca marsican(D)

	
	

	5
	Creature has no appendages……………………………………………………………………………………..Slinkova slimus(E)

Creature has appendages (arms or legs)……………………………………………………………….…………….go to 6

	
	

	6
	Creature has only two back appendages……………………………………………………………….Slinkova aquatus(F)

Creature has four appendages…………………………………………………………………………………..………..go to7

	
	

	7
	Creature has a dorsal fin……………………………………………………………………………………………..Slinkova finus(G)

Creature lacks a dorsal fin…………………………………………………………………………………………Slinkova bottae(H)
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Answer the following questions about Darwins Finches and Evolution:

31.  What are three differences you can readily see in the graphic above about the habits of the finches?
Shape and size of beaks, head size, foods they eat
32.  Which finch has the sharpest beak? Warbler finch
33.  If the vegetation on Isabella Island which was very rich with fruit trees and shrubs died out due to a long drought,  and the available food source was cacti, which type finches would become the dominant species? Cactus Finch
Why?  Better adapted for the new food source, cacti.
34.  If the scenario in question 29 happened, what trait would be passed on to future generations as the best adapted trait to survive?

Long sharp beaks

